N NP
10 ChetAl ol B

o|=. AR
(3% + 6)(x + 9) (9x — 8)(4x — 4)
(4x — H)(dx* —x— 1) (8% + 4)(6x — 3)
(Tx — 8)(7x° + 4x + 4) (5x° — 9x — 9)(5x — 6)
(% — 5)(3x+2) (2% + 9x + 9)(6x — 5)
(4— 52 (4x +9) 9+ 8 (2x +2)
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Of

o

(3x% + 6)(x +9)
36 + 27%% + 6x + 54

(4x— 44> —x— 1)
16x° — 20 + 4

(Tx — 8)(7x% + 4x + 4)
4953 — 28x% — 4x — 32

o = 5)(3x +2)
3% + 2% — 15x— 10

(4— 57 (4x +9)
—20x° — 45x% + 16x + 36

=N

(9x — 8)(4x — 4)
36x% — 68x + 32

(8% + 4)(6x — 3)
48x° — 24x% + 24x— 12

(5x — 9x — 9)(5x — 6)
25x° — 75x% + 9x + 54

(2% + 9x + 9)(6x — 5)
123 + 44x* + 9x — 45

9+ 8 (2x +2)
16x° + 16x> + 18x+ 18
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